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1. Ejercicio 1
Encuentre i1 e i2.
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E = 24V, R1 = 3Ω, R2 = 15Ω, R3 = 10Ω, R4 = 8Ω, R5 = 24Ω.

2. Ejercicio 2
Encuentre la potencia absorbida por R5.
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ig = 5A, R1 = 8Ω, R2 = 4Ω, R3 = 2Ω, R4 = 4Ω, R5 = 12Ω, R6 = 20Ω.

3. Ejercicio 3
Encuentre i1, i2 y v.
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E = 100V, R1 = 4Ω, R2 = 24Ω, R3 = 12Ω, R4 = 2Ω.

4. Ejercicio 4
Encuentre i.
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ig1 = 4A, ig2 = 8A, G1 = 1
6 Ω

−1, G2 = 1
4 Ω

−1.

5. Ejercicio 5
Encuentre i(t) si a) R = 6Ω y b) R = 1Ω
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ig(t) = 10 cos(2t)A, R1 = 2Ω, α = 4Ω

6. Ejercicio 6
Encuentre i
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E1 = 24V, E2 = 8V, ig = 1A, R1 = 4Ω, R2 = 2Ω.

2


	Ejercicio 1
	Ejercicio 2
	Ejercicio 3
	Ejercicio 4
	Ejercicio 5
	Ejercicio 6

